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 : (1)          
  (2)          
  (3)         
  (4) -I           
  (5) -II          
 

-I 

1.        : 

 (A)        ?         : 10 

  (1)      

  (2)    

  (3) -I  -II  

  (4)        

 (B)     , 5%            

   10 

 
  

     

1 150 210000 588000000 

2 200 240000 289280000 



AK-104 (H) 2  

2.      : 

 (A)                

   10 

 (B)       ` 40      , ` 70     

        ,     ` 30      

    ,      : 10 

 (’000 ) 10 12 14 16 18 

 0.10 0.20 0.30 0.25 0.15 

          ,        

EVPI       

 

3.       : 

 (A) “  ”       10 

 (B)           : 10 

 A 
  B 

B1 B2 B3 B4 

A1 1500 1100 1700 1400 

A2 1900 1400 2500 1600 

A3 1000 1500 1300 1900 

A4 1500 1000 2000 1400 

A4 1700 1200 2200 1600 



AK-104 (H) 3 P.T.O. 

4.       : 

 (A)    ,        : 10 

  (1)     

  (2)     

  (3)     

  (4)     

  (5)     

 (B)   ()   ,      : 10 

  2x + 3y – z = 40, 3x + 2y + z = 60, x – 5y + 3z = –10  

 

-II 

         : 10 

 (1)         

 (2) 500        50           20 

  100           

 (3) 900     , 540             

      

 (4)  S1, S2  S3  -  ,   : 0.2, 0.4  x   

   A1       : 2000, 2500  1000 ,   A1 

  EMV    

 (5)  EMV    ` 2,000   EPPI   ` 3,250 ,  EVPI  

       



AK-104 (H) 4  

 (6)     ` 100        ` 70       

,  30                

 10 20 30 40 50 

 0.1 0.2 0.3 0.3 0.1 

 (7)     ?  ()          ? 

 (8) x              ? 
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42–
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36

 

 (9)           

 (10)            

__________ 


